SuMPO

VERIFI

EPD

IAPAN

SuMPO EPD
14T NBIBEE (EPD)
ZixE= - JR-AI-25192E

SUMPOIRIESAITOIS s
— AR ATRATF IR EHEERE
REBTFREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

FUJHHILM

Value from Innovation

=

TIANLETFRX A /R-VaJBFERE’
FUJIFILM Business Innovation Corp.

A3 Bho—EEH (BEHK)
Remanufactured Product

A3 Color Multifunction Printer

ApeosPort C3570 R (for AU)

Apeos. Apeos 0. ApeosPro. ApeosPort . $&U ApeosPrint (&, EXTAIAESRRA IR MRS OSIRFERELIEHIETT,

Xerox. Xerox O\

BLUFuji Xerox OT(@. KECOVI AL OBHREIRELEEETT .

BEHEN ERES JR-AI-25192E
P EAPCREFS  PA-590000-Al-08
PCR% B A E D HER
BEMNRERPE A 2026418308
WSkt mEdnE REEETEE  2025€11811H
ORMEAE QEE OB @M - T REEA R VAT LRE AR
®FZE-UY1II RALES 2025-FB-EL-047
REEEZNHEAR 20304118108
HEmOBRN, TEMLK-FET PCRLE1-DEIHE
Bz : ApeosPort C3570 R REHS 2023%F 98 1H
FEMK  H5-EEHE EPHR) ZER B Ex
ENRIEE : T/70 35ppm (A4 LEF) (FiB — Mt EiE AY AT T IR B HEE )
$H5- 35ppm (A4 LEF) F=ERAE BT
BARMBYIZX A3, 12 x 18" (305 x 457 mm), NEMIREES
SRA3 (320 x 450 mm)
TUY /=% ISO14025(C 2 AT & R U T—5 O LIAREE

i) [ E1 R # B2 /ADF (R 7% B Bh 54 )

FRWEHEE

OA#EB W AR

*YAT LRI ER T EEANOREDH B, YATLRAE T REEAD

2 BIEE
BXIAMNWLESHRRA I N—>3 VREtt
BEMAXAREFSV6THIE
https://www.fujifilm.com/fb/

&S ¢ JR-AI-25192E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPO SuMPO EPD SUMPOREESIANITOIT A

EPD - —BHEEAY AT IR
. 'o S14TNRIEEE (EPD) ERHBTFARERAME-14-8

YERIEEED KANDA SQUARE GATE
BRES JR-AI-25192E https://ecoleaf-label,jp

S1TY1 VIR EE R

FRREE | WASE | AR ﬁfg’ﬁfﬁ Py
SUREE) - &F kg-COzeq 3.66E+02 2.87E+01 7.10E+01 1.34E+02 1.55E+02
AV EHIE kg-CFC-11eq |  4.58E-05 4.53E-08 2.64E-08 3.91E-06 3.35E-08
EXREL kg-PO43-eq 1.14E-02 1.18E-03 1.87E-04 5.46E-03 1.84E-04
[i7qc |4 kg-SO.eq 9.98E-01 1.82E-01 6.86E-02 5.92E-01 1.67E-01
HALZAFIIY S kg-CzHseq 1.03E-02 6.25E-05 4.58E-04 1.12E-03 1.30E-03
FEYERAES - 519 kg-Sbeq 4.26E-01 9.96E-05 1.35E-05 4.50E-02 3.23E-05

F1THLIIWAIRY B 3 IRESEE R
—REFOERICEY 31T

FREERE | ARE | hasm ﬁfg’ﬁfﬁ e
BAAgE—RER - IRILF- (RPRE) M) 7.43E+02 2.28E+02 9.76E+00 6.45E+02 7.27E+01
BAATRE—REIR - IRIF-2BME (RPRy) M) 1.56E+01 3.84E-03 2.52E+02 6.50E+02 1.37E-02
FEFAERHE—RER - Ir)F— (NRPRy) M) 5.78E+03 9.50E+02 8.15E+02 3.15E+03 8.47E+02
JEBETE—RER - IRVE-2BME (NRPRy,) M) 1.06E+03 2.90E-01 2.83E+00 2.55E+02 1.78E-01
RKDEEE m3 2.94E+00 2.48E-02 2.65E+01 6.86E+01 1.30E-02

HEREICETZEMIER
A-ARSUTERRAEGRELTEELELE,
EAKEPHRN)DZEYFUATEELTVET,
- ROEEEARMESEMTY,
{EA - ISR LB T RENRI AR BT EEENE A
MEARBOEAE, IRINF-AY-T0I5LVer.3 2B # (A > TCRIE LETECIER TICEE LELE,
R EENRIM L, 182,400 TT,
1/4x 32 (YaJ/B) x 19(82) x 5 (B) x 4 (B) x 12 (5 A) x 5 (5F) = 182,4004%
AR FRFTEROEREFAERNSEIULERREEZBAALTSY . EMRFRAEERCBVTBEBROBNEERLTEELTVET,

ZOMORIBEEER
Hd = CRAY BEMEICEI 515
E-HE (ERIBS) B R CAS No. ERE
L@ 62 kg - - -
Sus 1.2 kg - - -
FIVIZUL 0.85 kg
ZotERE 10 kg ERALEZRT-YDEXSH
T3AFvY 44 kg [REAI(E, LCIT-9R-IDEA Ver.3.4, SUMPOREINIL TOIS L& FT -
N 0.29 kg Ver.1.16&2fEALTVET,
A5 1.8 kg
- A 10 kg {im&
FLE A FEEAR 4.0 kg -
pa i 6.3 kg
Z0ft 5.3 kg

OT-FIHEDHEF. PCRELUVBEE - EEREESRBL LI,
OLLRIIOVTR, BE - EERBICREINLRGLELLIISEICLIRYONEEA,
(BHFURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

